
ARCHITECTURAL 
CYLINDER LIGHT

To reduce the risk of death, personal injury, or property damage from fire, electric shock, falling parts, cuts/abrasions, 
and other hazards, read all warnings and instructions included with and the fixture box and fixture labels.

Before installing, servicing, or performing routine maintenance upon this equipment, follow these general precautions. 

Commercial installation, service, and maintenance of luminaires should be performed by a qualified licensed electrician.

If you are unsure about the installation or maintenance of the luminaires, consult a qualified licensed electrician. Please 
abide by all relevant country, regional, and local code requirements and regulations when installing this luminaire. Wiring 
must be in accordance with NEC and all applicable local codes.

DO NOT INSTALL DAMAGED PRODUCT! This luminaire has been properly packed so that no parts should have been 
damaged during transit. Inspect to confirm. Any part damaged or broken during or after assembly should be replaced. 

Do not make or alter any holes unnecessarily in an enclosure of wiring or electrical components during the installation. 

Turn off electrical power at the fuse or circuit breaker box before wiring fixture to the building power.

Verify that supply voltage is correct by comparing it with the luminaire label information. Do not install with supply voltage 
that exceeds the rated input voltage of the luminaire.

PLEASE FIND A QUALIFIED ELECTRICIAN FOR INSTALLATION. 
Please Read The Instructions Before Installation And Use.

WARNING

• Disconnect or turn off power before installation or servicing.
• Do not install in wet locations. For dry and damp use only. 

• The electrical rating of this product is 120–277V. Installer must confirm that there is 120–277V at the fixture before installation.

Caution

2P terminal 3P terminal

4

21 3

6

5

Turn on the main 
power switch

�

Turn off the main 
power switch

�

Turn on the main 
power switch

�

1 42 3

65

8

9

7

100mm
-3600m

m

Un-tin end

The immersion tin end is retained

➁

A

WHITE

LINE

NEUTRAL

PINK

WIRING DIAGRAM

DIM (-)

GROUNDGREEN

DIM (+)

BLACK

VIOLET

WHITE

LINE

NEUTRAL

PINK

WIRING DIAGRAM

DIM (-)

GROUNDGREEN

DIM (+)

BLACK

VIOLET

2P male terminals 3P male terminals

LINE—BLACK

NEUTRAL—WHITEPINK

GROUND—GREEN

VIOLET

_ + W B

Safety rope

10

Conduit canopy for 
surface J-box option

Recess J-box Surface J-box 

Angle Adjustable VersionCCT/Power/Beam Angle Selectable

Hanging Wire Version

1. Select the required CCT and wattage according to your needs.

2. The default maximum angle is set. If you need 
to change the angle, you can take it out and then 
rotate the column on ➁ to the target angle.

2. Plug the two 2P terminals and the 
two 3P terminals into each other 
respectively; then tighten ➂ with ➃.

6. Put the wires and terminal 
caps into the junction box, and 
finally connect the holes ➂ to ➁ 
and tighten them with ➄.

5. Wiring.
2.➁Cut the untinned end to 
the ideal size.
(The default cable length is 
1.2m and 3.6m, and this step 
cannot be skipped)

3. a: Insert ➂, A, ➈, and ➇ into the tin-immersed end of ➁ in 
sequence and tighten;
b: Insert ➉, ➃, ➄, and ➇ into the non-tin-immersed end of ➁ 
in sequence.

7. Installation is complete, 
power on and light up.

4. As shown in the figure, align the tinned wire ➁ and the 
male terminals 2P and 3P.

5. a: Plug the 2P terminals and 3P 
terminals of ➀ and ➁ together;
b: Tighten the M3 screws of part 
"A" and ➀.

6. Use the 8-32 screws that 
come with the junction box to 
secure ➄ to the junction box.

8. Put the wires and terminal caps into the junction box; 
push them upwards with ➃ and tighten them with ➉.

9. Installation is complete, power on and light up.7. Wiring.

3. Use the 8-32 screws that come 
with the junction box to fix ➁ to the 
junction box.

4. The safety rope is fixed on ➀.

1. Remove the "A" part of ➀ 
and set it aside

1. Remove the "A" part of ➀.

Turn off the main 
power switch

�

Installation Guide

A

A

2700K/3000K/3500K/4000K/5000K
(Default CCT 5000K)

3 inch:  8W / 11W / 15W
4 inch: 13W / 19W / 25W
6 inch: 20W / 30W / 40W
(Default Maximum Wattage)

Indicating point
1 2 3 4 5

6 7 8 9 10

11 12 13 14 15

A

The immersion tin end

®



1

Turn on the main 
power switch

�

42 3

6

4FT: x1
8FT: x1

4FT: x1
8FT: x3

5 7

14

8

9

12

13

10 11

WHITE

LINE

NEUTRAL

PINK

WIRING DIAGRAM

DIM (-)

GROUNDGREEN

DIM (+)

BLACK

VIOLET

2.According to the needs, cut off the 
end with the hole on the pole, and use 
a drill bit to drill a Ø4.5MM hole at the 
center point 8MM away from the end 
of the aluminum pole.
(The pole length is optional.Skip this 
step if you don't cut the aluminum 
pole)

9. Place ➃ into ➄ in direction A, then push it to the 
left in direction B, then push it upward in direction 
C, and finally push it to the right in direction D.

2. Connect "A" and ➁ with ➃ and 
fix them with ➅. Finally, pass ➇
through the hole.

11. Push ⑫ upwards and hold it with the magnet.

12. Installation is complete, power on and light up.

10. The effect is as follows. 
After hanging, use ➆ to lock it.

3. a: Plug the 2P terminals and 3P terminals of ➀ and ➇ together;
b: Tighten the M3 screws of part "A" and ➀.

4. Use the 8-32 screws that 
come with the junction box to fix 
➂ to the junction box.

6. Wiring. 7. Align the bracket slot on ➀ with the clamping point of 
the junction box, push it upward to the bottom and then 
rotate it counterclockwise to lock it in.

5. Install ➄and the junction box 
together, and take out the safety 
rope and fix it on ➀.

7. The safety rope is fixed on ➃.

8. Wiring.

3. The splicing effects of 4FT meters and 8FT meters are as follows: 4. a: Tighten ⑬ and "A" part with ➈, then tighten ⑪;
b: After ➉ passes through ➃ and ③, use ⑧ to lock the hole end of ➉;
c: Slide ➁ into ➃ in the direction of the arrow;
d: Put ⑫ into ➉; then tighten ➉ and ⑪ by turning clockwise according 
to the arrow, and then pass ⑭ through the middle of ➉ and ⑪.

5. a: Plug the 2P and 3P terminals of ➀ and ⒁ together;
b: Tighten the M3 screws of part "A" and ➀.

6. Use the 8-32 screws that 
come with the junction box to 
secure ➄ to the junction box.

Safety rope

Conduit canopy for 
surface J-box option

Recess J-box Surface J-box 

1 42 3

5

8

6 7
The holes cannot 
be covered.�

Safety rope

WHITE

LINE

NEUTRAL

PINK

WIRING DIAGRAM

DIM (-)

GROUNDGREEN

DIM (+)

BLACK

VIOLET

Conduit canopy for 
surface J-box option

Ø4.5mm
8.0mm(To the end)

Turn on the main 
power switch

�

Recess J-box Surface J-box 

Pole Version

Ceiling Version

8. Installation is complete, power on and light up.

1. Remove the "A" part of ➀.

1. Remove the "A" part of ➀.

Turn off the main 
power switch

�

Turn off the main 
power switch

�

8FT

4FT

A

A

A

A

A

A

B

C

D

A

16 17 18 19 20

21 22 23 24 25

26 27 28
29

30


